Ki, Mobility
Z
Rogue2 Side Guard Receiver
|'f_ﬁ"|
._J__,-J\,_.-"' Pt
o A3
.-"'-.-.--f;
) --
~\ _®
II %\
"1
Nl
& s,
-IC .-"'- -
?H\:?/f’f!"h —
J o ®
& > oy
r £ M ' 1\5 J
o J.a’q,.)l'-::'::f" S G Fostn s
e e i) J\_?
@-EF’ -~
L&
e, ”‘Hfﬁ
K\h, Y
If retrofitting side guards, clamp on receiver is required

12-27-2024



[tem Number  Part Number  Description Quantity
N e e O 1
soigzo | Mide Sile Cuad Clamp Hount Recenver :
R N o il IR
2 101125 M6 x 55 BTN SHCS BLKZC 1
3 100746 M6 Flat Washer Blk Zn 1
4 100658 M6 Nylock Nut Blk Zn 1
T | e CEn e :
6 000554 Side Guard Clamp Mount Rigid 1
7 101810 M6 x 35 SHCS BLK ZC 2
8 102326 Flat Washer ID .254" x OD .396" Thickness .047" 2

Zinc

12-27-2024




